M10x15

206

115

16

202

10 h9

1

38

OUTPUT

1T mioxez
35 he

M2 Hg N4

138 /578

. SO
N
M E7
N2
N1
b INPUT
I!Ii T S X
5 |60 o
‘ : C 36 _U
mtg: 7777777 1 L o D1|/D2|D3|G[ T[S
O Nj 1 8 FA |130|165|200| 11 3.5/ 11
* - FB 180|215|250|14| 4 |14
.70,] N3
LD
+{] H b | M | M | M2 N N1 | N2 | N3 N4 X P | @A
C 36 2/3 | P63 226 | 11 [ 128 | 4 | 140 | 115 | 95 | — [ M8x19 | 4 | 326 | 17
C362/3 |PT1 226 | 14 | 163 | 5 | 160 | 130 | 110 | — | M8x16 | 45 | 326 | 17
C 36 2/3 | P80 236 | 19 | 21.8 | 6 | 200 | 165 | 130 | — |M10x12| 4 3455 18
C 36 2/3 | P90 236 | 24 | 273 | 8 | 200 | 165 | 130 | — |M10x12| 4 |3455 | 18
C 36 2/3 | P100 236 | 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 |3555| 22
C 36 2/3 |P112 236 | 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 |3555| 22
C 36 2/3 [P132 — [ 38 [ 413 ] 10 [ 300 | 265 | 230 | 16 14 5 [3925] 25
C364 |P63 — 11 [ 128 [ 4 140 | 115 | 95 | — | M8x19 | 4 3835 20
C364 |PT1 — | 14 | 163 ] 5 160 | 130 | 110 | — | M8x16 | 45 3835 20
C364 P80 — | 19 [218] 6 [ 200 | 165 | 130 | — |M10x12| 4 | 403 | 21
C364 P90 — | 24 | 273 | 8 | 200 | 165 | 130 | — | M10x12| 4 | 403 | 21
C364 |P100 — | 28 [ 313 ] 8 [ 250 [ 215 | 180 | — |M12x16| 45 | 413 | 25
C364 |P112 — [ 28 [313] 8 [ 250 | 215 | 180 | — |M12x16| 45 | 413 | 25
@ Bonfiglioli

Riduttori



